—JH434i (Binomial distribution)
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# Probability of getting 26 or less heads from a 50 tosses of a coin.
#IE A B/ NSRS 26 1K

>pbinom(26,50,0.5)
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# How many heads will have a probability of 0.25 will come out when a coin
is tossed 50 times.

>gbinom(0.25,50,1/2)
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# Find 8 random values from a sample of 150 with probability of 0.4.
>rbinom(8,150,.4)

According to the American medical research, 75% of adults believe that an
unattractive smile will hurt career success. Assuming 25 adults are randomly
selected, what is the probability that 15 or more people will agree with the
statement?

p.smile <-dbinom(15:25,25,0.75)  #a1 5 15 F| 25 KR E, ¥ Bl SO R bR 1

plot(15:25, #x i 57 [
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pch=19, #2h 1 ER

main = "Binomial") #:X 5E Binomial A1 iE

sum(p.smile)

1) Assume that the probability of a girl dressing up as Elsa in Disneyland is
0.34. Now, there are 1581 girls in Disneyland. We say the girls are not
interacting with each other.



a.

What's the probability of at least one-third of the girls dressing up as
Elsa?

Create a matrix showing the probability of 23, 145, 333, 465, 885 and
1121 girls dressing as Elsa (with the number of the dressed-up girl in
the first column and the corresponding probability in the second
column). And write the matrix in a file called “prob.txt” in the R
working directory.

0 2)Suppose there are n multiple choice questions in a test. Each question has c
possible answers, and only one of them is correct. The total score is t (in
points) .

a.

Write a function p.fun. The function has four input variables n ,c,t and
X, where n ,c ,t and x are positive integers. The function output is the
probability of getting x or more points on the test if a student
attempts to answer every question at random.

Suppose there are 50 multiple choice questions in a math test. Each
guestion has four possible answers, and only one of them is correct.
The total score is 130 (in points). Use the function p.fun to compute
the probability that a student pass the test (get 60 points or more on
the test) if he/she attempts to answer every question at random.
Write down the R command(s).





